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3000
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3200
PN DN D) R=gs ] 10,651,320 10,646,320 5,000
3220
232 10,651,320 10,646,320 5,000
3222
APRICHR| T & AP 10,651,320, 10,646,320 5,000
100
B A0 A 52,200 47,200 5,000
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ZaXE A 25,800 20,800 5,000
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0 MAXISHAQTH ZE4 JIa 5,000
==Falls] 400,000 x 5& = 2,000
L ®II93 600,002 x 58 = 3,000
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oll I B 40,479,030 40,484,030 A5.000
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ol Bl H] 40,479,030 40,484,030 A5.000
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NEIE 40,479,030 40,484,030 A5.000
400
olHIHIS 40,479,030 40,484,030 A5.000
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ol I 40,479,030 40,484,030 A5.000
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T 40,479,030 40,484,030 A5,000 O0IHI B 40,479,030,0002 - 40,484.030,0008 = A5.000
H = &8 7 87,224,000  87.224.000 0




